
GRE Arithmetic Practice Paper 4
Question 1

3x – 10 = y

3y – 10 = x

Quantity A

x

Quantity B

y

A. Quantity A is greater.
B. Quantity B is greater.
C. The two quantities are equal.
D. The relationship cannot be determined from the information

given.

Question 2

Quantity A

The square root of 30

Quantity B

The greatest prime

factor of 30

A. Quantity A is greater.
B. Quantity B is greater.
C. The two quantities are equal.
D. The relationship cannot be determined from the information

given.

Question 3
Find the 100th term in this sequence: 2, 5, 8, 11, 14, …

Question 4
The fifth term in a sequence of numbers is 19. Each term after the first term in
the sequence is 3 less than the term immediately preceding it. What is the
second term in the sequence?



(A) 10
(B) 13
(C) 28
(D) 30
(E) 31

Question 5
For any positive integer n, the sum of the first n positive integers equals (n(n +
1)) / 2. What is the sum of all the even integers between 49 and 101?

A. 1875

B. 1950

C. 2550

D. 4950

E. 5000

Question 6
For any positive integer n, the sum of the first n positive integers equals (n(n +
1)) / 2. What is the sum of all the even integers between 49 and 101?

A. 1875

B. 1950

C. 2550

D. 4950

E. 5000



Question 7

Question 8

Question 9

Question 10



Question 11

Question 12

Question 13
If 10 is 2% of z, what is 50% of z ?

1. 0.1
2. 5
3. 250
4. 500
5. 1000

Question 14
1. If 9 is x percent of 45, what is x percent of 50?

1. 2



2. 5
3. 10
4. 15
5. 20

Question 15
1. If s > 0 and s percent of 10 is equal to 40% of t, what is the value of

st  ?
1. 1
2. 4
3. 10
4. 40
5. 100

Question 16

Question 17



Question 18

Question 19
One pen costs $0.25 and one marker costs $0.35. At those prices, what is the total cost
of 18 pens and 100 markers?

Question 20
A merchant made a profit of $5 on the sale of a sweater that cost the merchant $15.
What is the profit expressed as a percent of the merchant's cost?


